
1) 4   3/5 - 3   5/6

Answer: ____________

2) 2/8 x 9/4

Answer: ____________

3) 5   2/6 - 2   1/2

Answer: ____________

4) (10 x 85) x (1 x 32)

Answer: ____________

5) 15 x 1000

Answer: ____________

6) 65 + 34

Answer: ____________

7) 65 + 34

Answer: ____________

8)

A = 65  B
Find the Angle at side B.

Answer: ____________

9) b

a o c
Measure angle boc 

Answer: ____________

10) b

a o c
Measure angle boc 

Answer: ____________

11) 2 x 28.9

Answer: ____________

12) 2 x 28.9

Answer: ____________

13) 94 - 39

Answer: ____________

14) Write 6 x 107 as a normal number.

Answer: ____________

15) Round 18.788 to the nearest 1000

Answer: ____________
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16) Write 2000000000 in standard form.

Answer: ____________

17) 09:56 am To 01:48 pm

Answer: ____________

18) 09:56 am To 01:48 pm

Answer: ____________

19) 33 + 99

Answer: ____________

20) Find perimeter of 
square having each 
side (s) equals 93 in

Answer: ____________

21) 95 ÷ 19

Answer: ____________

22) 97 + 94

Answer: ____________

23) 25 x (-9)

Answer: ____________

24) A number is chosen at random from 
1 to 25. Find the probability of 
selecting even number.

Answer: ____________

25) Find perimeter of 
square having each 
side (s) equals 73 m

Answer: ____________

26) What would you multiply by to 
decrease an amount by 19%?

Answer: ____________

27) 142 - 14 + 10

Answer: ____________

28) 132 x 15 + 14

Answer: ____________

29) Factorise d2 + 8d + 15

Answer: ____________

30) 10/12 + 5/12

Answer: ____________
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31) 43/5 x 31/8

Answer: ____________

32) 10 x 1 - 9

Answer: ____________

33) 32 + (-44)

Answer: ____________

34) 18 x 10

Answer: ____________

35) What would you multiply by to 
decrease an amount by 15%?

Answer: ____________

36) 1% of 58

Answer: ____________

37) 21.4 x 24.4

Answer: ____________

38) Write 0.005 in standard form.

Answer: ____________

39) A number was shared in the ratio 
4:2. The smaller share was 27. What 
was the total amount shared?

Answer: ____________

40)

'Name the type of angle.

Answer: ____________

Total: ___ / 40

Copyright 2020 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

December 29, 2020

Sr: 29122020-1868

 

http://www.geekschool.co.uk

